












































































































Consider x a x b

x tax be tab

si Cats x tab

Factorising is the reverse of this process

I 6Ex I sat 5 6 I 6
x 2 Go 3 I I

The numbers in the brackets multiply to

give the constant on the end 6 and
add together to give the number of Xs s

EN SE 8s 12

se 2 x g

I 12
I 12
2 6
2 6
3 4
3 4

Ex X t 7 10 I 10
I 10

i 2 Gets I 5
2 5

Factorising Quadratic Expressions














































































































I 24Exa of t Ilse 24 l 24

x 3 x 8 th iz
2 12
3 8
3 8
4 6
4 6

Exercise Factorice

I 31 x 42 3 i

x 1 x 3

2 x lbs 10 I I'g
x 1 G 10 2 5

z 5

3 It 8 15 I 15
I 15Go 3 G 47 3 5
3 5

4 X 9 20 I 20
I 20

21 4 a 5 2 to
2 10














































































































5 K2 20 I

x tiles i I I

Further Examples

1 35 7 6 I 6

Gi 1 fi 6
I 6
2 3
Z 3

2 I 82 7 I 7

Gs 1 Ge p
i i

Exercise

1 x 7 10 t to
2 5x 2 Gi 51 2 5

2 I 13 12
I 12

2 6x 1 be 121

It I2 6
I a

3 I 9 14
I 14
I 14
2 7
2 7



































D se 2x 15 1 15
I 15

3 5x 3 5

3 5

2 I X 12 ti 12
I 12

Gits G H 7 G
Z 6
3 4
3 4

3 I 5 24 I 24
I 24X 3 61 8 2 12
2 12
3 8
3 8

Exercise
I 8

1 I 2x 8 i 8

x 2 x 4 IZ IE

2 I 4 5 I
or 1 x 5

Further Examples



3 x 9 to I
x 1 actio

4 X 5 14 ti 14
I 14

x 2 21 7 2 7
2 7

I 9
5 I 8 9 I a

Ga 1 fetal

6 25 2x 3 I I
2 1 x 3

7 action is I I's
x 1 G 15

8 I tox it I II't
anti e 11

I 18

9 I 7 18 I 18
2 gx 2 x 9 2 a

10 x 4K 21 I 21
I 21



21 3 6 1 77 3 7
3 7


